Poser la division

487,9546
4,2









































Q = 
487,9546


Dividende
Diviseur
Quotient



4,2

OG
900
70
13














Écriture en ligne 




à l'unité : 
487,9546
=
13
 x 
4,2
 + 43




au dixième : 
487,9546
=
13,6
 x 
4,2
 + 1,6




au centième :
487,9546
=
13,62
 x 
4,2
 + 0,22




au millième : 
487,9546
=
13,623
 x 
4,2
 + 0,013




au dix-millième :
487,9546
=
13,6231
 x 
4,2
 + 0,0061




au cent-millième :
487,9546
=
13,62318
 x 
4,2
 + 0,00058


3259,1
7,65









































Q = 
3259,1


Dividende
Diviseur
Quotient



7,65

OG
900
70
13














Écriture en ligne 




à l'unité : 
3259,1
=
13
 x 
7,65
 + 43




au dixième : 
3259,1
=
13,6
 x 
7,65
 + 1,6




au centième :
3259,1
=
13,62
 x 
7,65
 + 0,22




au millième : 
3259,1
=
13,623
 x 
7,65
 + 0,013




au dix-millième :
3259,1
=
13,6231
 x 
7,65
 + 0,0061




au cent-millième :
3259,1
=
13,62318
 x 
7,65
 + 0,00058








